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full marks for the questions.

Answer either in English or in Assamese.
- 1. Answer the following : 1x5=5
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(a) At what stage does crossing over occur
in meiosis ?
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(b)
(c)

@

(e)

Write short notes on :
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(@)

(b)

()

What is allelomorph ?
Qe sRE {52

‘What is the genotypic ratio of Mendel’s

monohybrid cross ?
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What is kappa partlcle ?
i 1 =52

What is CLB method ?
CLB #&fe 52

(any five) 2x5=10

Polygenic inheritance

e e

Antibiotic resistance in
Chlamydomonas
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Down’s syndrome
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(@)

(e)

(9)

0)
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Difference between somatic mutation
and germinal mutation
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Somatic cell hybridization
BEIOF (P F5He
Definition of Tautomerism
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Different types of gene mutation
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Cytological basis of crossing over
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Organelle inheritance
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Difference between aneuploidy and
polyploidy
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Answer briefly : (dny Jour)

5x4=20
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(@)

(b)

(c)

(@)

Write about incomplete linkage of

Drosophilla melanogaster with suitable
diagram.
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Describe the phenomenon of pleiotropy
with suitable example.
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What is multiple allele ? Write the main
characteristics of multiple alleles.

2+3=9

GIfe T 2 Gfore It 7 et 2 e <
@feTeTe 32 SRR Bl |

What is chromosomal mutation ?
Describe the phenomenon of deletion

with suitable example. 2+3=5
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(e)

(9)

(h)

Write the important features of

chromosome theory of inheritance.
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What is gene mutation ? Write the
difference between backward and

suppressor mutations. 1+4=5
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What is sex determination ? Write about
the ‘genic balance theory’ of sex

determination. 2+3=5
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What is. dosage compensation ?
Write the mechanism of dosage

compensation. 2+3=35
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4. Write any one of the following : 10x1=10
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(@) What do you mean by mitochondrial
inheritance ? Mention the
characteristics of extra chromosomal
inheritance. Discuss the maternal effect
in snail’s shell coiling with proper
illustration. 2+3+5=10
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(b) Define mutagens. Describe different
types of chromosomal aberrations in

the context to structural changes with
suitable examples. 2+8=10
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\.\c-‘;;:’_\ (c). sWhat do you mean by crossing over ?
Oy e O
X Magaon-Discuss the molecular mechanism of

crossing over with suitable diagram.
Write a short note on its significance.

2+6+2=10
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(d) What is Iiﬁkage? Deseribes ithe

mechanism of linkage. Write about the
significance of linkage. 2+5+3=10
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